NPETCTABYBAMWE EJIEMEHTHUTE
HA EJEH TPUATONHUK KAKO CYMA HA PEJOBH

bunnren na [IpymreoTo Ha MaTemaTnuapuTe U (pusmyapure
on H P Makenonnja, ka. V, 1954, 19-21

1. Bo eden iZpuatosnur Hexa ce O0adenu O0se cilipariu a u b
u aiaaoid mety nus 3. IlpuMioa rexa e a™> b. Towaj aiasoil
clpexa b e cyma na pedoiii {1]

Az AR 5
B=Asiny+ 5 sin2y+ —=-sin3y+---

2 3
(A = b/a).
On cHHyCHaTa Teopema
a b
sin(y +8)  sinpg’
umame )
. A sin y
We= TR cos v
uau [2]
A sin vy
(1) B - arctg -i—-:—i—ao——s——-r -

3umajiu BO mnipenBun,

arctgx=X7(-1r— T k<1,
r==13

a+m== 3 (F) = 1x1<1,
umame za (1) ]
3-2 (- 1y 2 sin®r~ty (1 -2 cos y)'—=

- 2 2 (-1 271 (4237) A+ sin—* y cose— v
r== F== - - - g .

HITH

-3 (- = — 5 (4275 3) Ast+2—Zgint—1 y cOS 1 v

r=—% s=1 s-2

— § E (- 1)y —t—e s+2r > s;f: 2 J\-‘*”—*sin”—‘rcos'“‘r-

r=1 s=1

AKO CTaBume
s+2Ar—2=k

M K3BPDUIMME CMEeHa HaA CYMHPAeTo, qobusamve
1

2
) X k "
- S, % E -1 sin®—1 y cog*k—%r+iy,

Bunejkn e

2]

sink ¢ = —1)r— k sin®r—1 p cost—2r+1 o,
g (-n (Zr = l)
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umame KOHeYHO
S Ak &
B= T sin Y-

2. AHaJIOrTHO Ha ropHOTO, MOXE Jla Ce [OKaXxe Hu CcJeln-

HUOT Pe3yJNITAT:
Arxo @ u b (a > b) ce OBe ciipann ra edeR THPUAIOJIHUK U

Y Qo4 Mmery HUB, cllpanal@a clpema alaao0ii Y € cysma Ha
pedoil 2%
L3 ] - 1
; rir-4) ris-4)
-2 x 2 e - .
2) c 4ﬂ’§k r2:=a T ST cos(r—-s)y
r—{'—s=k

(™ =bfa)
HaBucTuHa, cipema KOCHHYCHaTa TeOpeMa Mmame

2=a%2+b%—2abcos v

nin
c=a(l -2A cosy +A2)a,

Ox mppyra cTpaHa nak

R{lg(l1 —Xe¥™) 1} =1g (1 ~2 A cos Yy -+ 2 'A,

u pgoGusame [3]
lgcalga—ﬁ Ak _cosk_ky
k=1

Koe MoXe na Guae NMUIIAHO W BO OGIUMKOT (2).
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THE ELEMENTS OF A TRIANGLE AS THE SUMS OF THE SERIES

(Summary)

In this Note we give a proof of the following result. .
Let a, & (a >> b) be the sides and vy the included anglel of a trian-

gle. Then:
1° the angle 8, the opposite of the side & is the sum of the series [1]
. A2 A3
B=2A sin vy ] sin2vy+ gsin 3y+ ---

(&= b/a).
2° the side ¢, the opposite of the angle y is the sum of the series

) & - L 1
= 41“ 2 A% 2 ! [r z;_] :t(s 2) cos (r—s).y.

o0
Ige=Iga— E Lk-‘—:oii.
k=

or
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